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1. (10%) For the function f(z) = /2% —4, determine (a) f(—3) and (b)
the domain of the function f(x). |

2. (24%) Evaluate the following limits.

(a) hlnm_,;g %ﬁ- (b) lirnh-——)() *H_h—h_l <C> hln:b-»oo l—l—a‘cisz'

3. (10%) Consider the function

f($>_{2513+3, if x < 1;
Az —1, ifz>1.

Find the value of the constant A that makes the function f (z) continuous for
all z.

4. (12%) The first derivative of a certain function is f/(z) = 2(z — 1)2.
(a) On what intervals is f increasing? Decreasing?
(b) On what intervals is the graph of f concave up? Concave down?

5. (24%) Evaluate the following integrals. \
‘ 2 Loy o, '
(a) /(6296 — g)d:z: (b) /:z:ln zdx  (c) /0 /0 y2 eV drdy.

n

6. (8%) Find the sum of the series ¥, (3%)1
7. (12%) Find the second Taylor polynomial for f(z) = vz at z = 4 (ie.
Poz) = f(4) + f(4)(x —4) + 5f"(4)(z — 4)%), and use it (ie. Py(4.2)) to
approximate v/4.2.



